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ENGLISH VERSION

Instructions : (1) Answer all the questions on the basis

of internal options.

(2) The right side digits indicates marks for

the questions.
(3) Draw the diagrams when necessary.

Explain the scope and important of micro economics.

OR

1Y

14

Describe the characteristics and meaning of indifference curve.

Explain the consumer's equilibrium by diminishing

14

marginal utility law in reference to singal commodity model.

OR
Explain the meaning of marginal utility and explain the
law of diminishing marginal utility.

Explain the principle of marginal rate of substitution.
OR

Explain the consumer's equilibrium by indifference curve.

What is price elasticity of Demand ? Explain the factors
that effects on price elasticity of demand.

OR
Explain the percentage method of measurement of price
elasticity of demand.

Give answer of any two from the questions given below :

(1) Explain what is total utility and marginal utility ?
(2) Budget curve (price curve) determination. Explain.
(3) Explain the concept of income effect.

(4) Explain the law of demand.
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